
16

Body Assembly

AX
31

32
1

AX
31

04
9

AX
31

32
0

AX
31

32
0

AX
31

32
0

AX
31

32
0

AX
A

10
95

AX
A

10
95

AX
A

11
5

AX
A

11
7

AX
A

11
7

AX
A

11
7

AX
A

11
7

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
6

AX
A

11
6

AX
A

11
8

AX
A

11
8

AX
A

11
8 AX

A
11

8

AX
A

14
5

AX
A

11
4

AX
A

11
4

AX
A

14
5

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
6

AX
A

11
6

AX
A

11
6

AX
A

12
1

AX
A

12
1

AX
A

44
1

AX
A

44
1

AX
A

11
8

AX
A

11
8

AX
A

14
6

AX
A

11
8

AX
A

11
5

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
31

32
0

AX
31

32
0

AX
31

32
0

AX
31

32
0

AX
31

32
0

AX
31

32
0

AX
31

32
0

AX
31

32
0

AX
31

12
5

AX
31

12
5

AX
31

31
9

AX
31

31
9

AX
31

32
1

AX
31

32
2

AX
31

32
2

AX
31

31
9

AX
31

33
2

AX
31

33
2

AX
31

31
8

AX
31

31
8

AX
31

31
8

AX
31

31
8

AX
31

31
8

AX
31

31
9

AX
A

18
0

AX
A

18
0

AX
31

32
3

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

04
22

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

44
1

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

11
8

AX
A

12
1

AX
A

12
1

AX
A

44
1

AX
A

11
6

AX
A

11
6

AX
A

11
6

AX
A

11
8

AX
A

11
6

AX
A

00
23

AX
A

00
23

AX
A

00
23

AX
A

00
23

AX
A

11
6

AX
A

11
6

AX
A

11
6

AX
A

11
4

AX
A

11
4

AX
A

11
4

AX
A

11
4

AX
A

15
0

AX
A

14
6

AX
A

11
8 AX

A
11

8

AX
A

11
5

AX
A

10
52

AX
A

10
53

AX
A

11
5

AX
31

32
7

AX
31

32
7

AX
31

32
7

AX
31

32
7

AX
31

32
8



17

AX
31

11
4

AX
31

14
8

AX
31

14
8

AX
31

14
8

AX
A

02
86

AX
A

02
86

AX
31

11
4

AX
31

11
4

AX
80

07
2

AX
80

06
2

AX
31

31
6

AX
31

31
6

AX
80

06
2

AX
31

31
7

AX
31

31
7

AX
31

31
7

AX
30

50
0

AX
80

00
2 AX

80
07

3

AX
80

07
3

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
A

11
7

AX
A

11
8

AX
A

11
8

AX
80

01
8

AX
A

11
7

AX
A

11
7

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

00
6

AX
30

39
2

AX
30

39
2

AX
30

38
5

AX
A

12
30

AX
A

01
5

AX
A

01
5

AX
A

01
5

AX
A

01
5

AX
A

01
5

AX
A

01
5

AX
A

01
5

AX
A

01
5

AX
A

11
5

AX
A

11
5

AX
A

14
4

AX
A

11
3

AX
A

11
3

AX
A

11
3

AX
A

11
3

AX
A

11
3

AX
A

11
7

AX
A

01
09

AX
A

10
70

AX
A

01
09

AX
A

01
09

AX
A

01
09

AX
A

14
4

AX
A

08
7

AX
A

08
7

AX
A

08
7

AX
A

08
7

AX
A

11
5

AX
A

11
5

AX
A

12
30

AX
A

12
21

AX
A

18
0 AX

A
18

0

AX
A

14
4

AX
A

14
4

AX
A

18
7

AX
A

18
6

AX
A

11
7

AX
A

09
1

AX
A

18
7

AX
A

18
0

AX
A

12
21

AX
A

12
21

AX
A

13
93

AX
A

12
21

AX
A

12
21

AX
A

10
52AX

A
11

8

AX
A

11
8

AX
A

10
52

AX
A

10
53

AX
A

12
30

AX
A

12
30

AX
30

40
8

AX
30

16
3

AX
31

02
8

AX
31

02
8

AX
30

41
9

AX
A

43
6

AX
30

41
9

AX
30

36
8

AX
30

36
8

AX
30

45
0

AX
30

45
0

AX
30

45
0

AX
30

45
0

AX
31

11
4

AX
31

11
4

AX
31

14
8

AX
A

12
21

AX
A

11
5

AX
80

08
3

AX
80

08
3

AX
80

08
3

AX
80

08
3

AX
31

31
7

AX
A

14
4

AX
A

14
4

AX
A

10
53

AX
A

11
5

AX
A

11
5

AX
A

11
5

AX
A

43
9



18

AX
31

11
4

AX
31

14
8

AX
31

14
8

AX
31

14
8

AX
31

14
8

AX
31

14
8

AX
31

14
8

AX
80

07
1

AX
80

07
1

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
10

52

AX
10

52

AX
10

53

AX
10

52
AX

10
52

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
80

01
8

AX
31

10
9

AX
80

01
8

AX
80

01
8

AX
A

14
4

AX
A

14
4

AX
80

06
9

AX
80

07
2

AX
80

00
2

AX
30

38
5

AX
30

39
2

AX
A

12
30

AX
A

12
30

AX
A

12
21

AX
A

08
7

AX
A

08
7

AX
A

08
7

AX
A

08
7

AX
A

12
21

AX
A

12
21

AX
A

12
21

AX
30

41
9

AX
30

41
9

AX
A

18
0

AX
A

18
0

AX
A

18
0

AX
A

01
5

AX
A

01
5

AX
A

01
5

AX
A

11
5

AX
A

14
6

AX
A

11
9

AX
A

11
5

AX
A

11
5 AX

A
11

5

AX
A

01
5

AX
A

01
5

AX
A

01
5

AX
A

01
5

AX
A

01
5

AX
80

00
2

AX
31

11
4

AX
31

11
4

AX
A

14
4AX

A
09

1
AX

A
18

7

AX
A

18
7

AX
A

11
7

AX
A

11
7

AX
A

11
7

AX
A

11
7

AX
A

18
6

AX
A

18
6

AX
A

11
8

AX
A

11
8

AX
31

02
8

AX
31

02
8

AX
A

02
86

AX
A

02
86

AX
31

11
4

AX
31

11
4

AX
31

10
9

AX
31

10
9

AX
31

10
9

AX
30

39
2

AX
30

16
3

AX
30

40
8

AX
31

31
7

AX
80

07
0

AX
80

07
0

AX
31

31
7

AX
31

31
7

AX
A

11
3

AX
A

11
3

AX
A

11
3

AX
A

11
3

AX
10

52
AX

10
52

AX
80

01
8

AX
10

52

AX
A

11
7

AX
80

01
8

AX
10

52

AX
A

11
7

AX
A

13
93



19

AX
A
12

21

AX
A
13

91
AX

30
16

3

AX
30

16
3

AX
30

16
3

AX
A
12

21

AX
A
12

21 AX
A
12

21

AX
A
12

21

AX
A
12

21

AX
A
12

21

AX
A
12

21

AX
31

13
1

AX
31

32
4

AX
31

32
4

AX
31

32
4

AX
31

10
8

AX
31

10
8

AX
31

32
4

AX
31

13
1

AX
31

10
7

AX
31

10
7

AX
31

10
6

AX
31

10
6

AX
31

10
6

AX
10

71

AX
10

71 AX
31

06
5

AX
31

06
8

AX
31

06
8

AX
31

10
8

AX
31

06
7

AX
31

05
9AX
30

41
3 AX

A
10

45

AX
A
14

6

AX
A
14

6

AX
A
14

8

AX
A
19

6

AX
A
04

13

AX
A
04

13
AX

A
19

6

AX
A
14

8

AX
A
14

6

AX
A
14

6

AX
A
14

6

AX
A
14

7

AX
A
14

8

AX
A
14

8

AX
A
14

8

AX
A
14

8

AX
A
14

4

AX
A
15

0

AX
A
15

0

AX
A
14

6

AX
A
14

6

AX
A
14

6

AX
A
14

6

AX
A
14

6
AX

A
14

6

AX
A
14

6

AX
A
14

8 AX
A
14

8

AX
A
29

1

AX
31

05
9

AX
31

10
6

AX
30

72
3

AX
31

13
1

AX
31

13
0

AX
31

12
9

AX
31

31
3

AX
31

33

AX
31

32
3

AX
31

32
3

AX
31

32
3

AX
31

08
3

AX
31

08
3

AX
31

12
7

AX
31

13
0 AX

31
13

1
AX

A
12

21

AX
A
12

21

AX
A
14

6

AX
A
14

6

AX
A
13

91



20

AX
31

25
0

AX
31

02
8

AX
30

24
9

AX
31

32
6

AX
31

32
6

AX
31

32
5

AX
31

32
0

AX
31

32
5

AX
31

32
5

AX
31

32
5

AX
31

32
5

AX
31

32
5

AX
31

32
6

AX
30

24
9

AX
18

0

AX
18

0

AX
31

02
8

AX
31

25
0

AX
31

30
1

AX
31

30
1

AX
31

30
1

AX
A

12
02

AX
A

12
02

AX
A

11
84

AX
A

11
84

AX
31

30
0

AX
30

11
3

AX
31

33
6 

/A
X3

13
15

AX
30

11
2

AX
A

10
41

AX
A

10
69

AX
A

10
69

AX
31

05
5

AX
31

31
4

AX
80

03
3

AX
31

30
1

AX
31

30
0



21

AX30113	 Rubber Bump Stop 3.6x7x4 (6pcs)
AX30155	 Shock Shaft 3x59.5 (2pcs)
AX30163	 Pin 2.0x10mm (6pcs.)
AX30368	 Axle 6x39mm (2pcs)
AX30385	 Diff Gasket 16x25x0.5mm (2pcs)
AX30392	 Bevel Gear Set (38/13)
AX30408	 Input Shaft 5x29mm (2pcs)
AX30413	 Slipper spring 8.5x12 165 lbs/in - Black (2pcs)
AX30419	 AR60 OCP Front Dogbone Set
AX30429	 12mm Aluminum Hub (Black) (4pcs)
AX30450	 Flange Pipe 3x4.5x5.5 (4pcs)
AX30463	 WB8 Universal Joint Rebuild Kit (2pcs)
AX30500	 Heavy Duty Locker (2pcs)
AX30723	 Pinion Gear 32P 12T - Steel (3mm Motor Shaft) 
AX30776	 AR60 OCP Rear Axle Set (2pcs)
AX31028	 Pin 2.0x11mm (6pcs)
AX31049	 Helmet Set (Black)
AX31059	 Slipper Plate Washer 33x1mm (2pcs)
AX31065	 Spur Gear 32P 64T
AX31067	 Slipper Plate (2pcs)
AX31068	 Slipper Pad 32.8x15.2x1mm (2pcs)
AX31083	 Radio Box Seals
AX31106	 2-Speed Hi/Lo Transmission Motor Mount
AX31107	 2-Speed Hi/Lo Transmission Spur Gear Cover
AX31108	 2-Speed Hi/Lo Transmission Case
AX31109	 Yeti™ Rear 4 Link Set
AX31114	 WB8-HD Driveshaft
AX31121	 M4x12mm Cap Head (Black) (10pcs)
AX31125	 Yeti™ Fuel Cell
AX31127	 2-Speed Hi/Lo Transmission Top Shaft (5x91mm)
AX31129	 2-Speed Hi/Lo Transmission Bottom Shaft (5x75mm)
AX31130	 High Speed Transmission Gear Set (48P 26T, 48P 28T)
AX31148	 WB8-HD Driveshaft Coupler Set
AX31185	 M3x10mm Hex Socket Flat Head (Black) (10pcs)
AX31250	 M4 Serrated Nylon Lock Nut (Black) (10pcs)
AX31300	 10mm Shock Parts Tree 2 (Blue)
AX31301	 10mm Shock Caps Parts Tree (Blue)
AX31312	 35T Electric Motor
AX31313	 Transfer Case Output Shaft (5x69mm)
AX31314	 Aluminum Shock Body 12x47.5mm (Clear Anodized) (2pcs)
AX31315	 Spring 14x70mm 1.43 lbs/in - Purple (2pcs) (Blue Springs)
AX31316	 AR60 Double Shear Steering Knuckle Set
AX31317	 RR10 AR60 Axle Component Set
AX31318	 RR10 Battery Tray Chassis Components
AX31319	 RR10 Center Cage
AX31320	 RR10 Rear Cage Components
AX31321	 RR10 Cage Lower Rails
AX31322	 RR10 Cage Sides (Left and Right)
AX31323	 RR10 Electronics Box
AX31324	 RR10 Transfer Case
AX31325	 2.2 BFGoodrich Baja T/A KR2 Tires - R35 Compound (2pcs)
AX31326	 2.2 Walker Evans Wheels - Black (2pcs)
AX31327	 RR10 Bomber Body - .040" (Clear)
AX31328	 RR10 Interior Ser - .040" (Clear)
AX31332	 RR10 Battery Tray Chassis Components 2
AX31333	 RR10 Skid Plate
AX31336	 Spring 14x70mm 3.27 lbs/in - Yellow (2pcs) (Blue Springs)
AX80002	 Diff Case -Small
AX80006	 Servo Set
AX80018	 Hardware Parts Tree
AX80033	 10mm Shock Parts Tree 1
AX80062	 XR10 C Hub Carrier Set
AX80069	 AR60 OCP Axle Housing
AX80071	 AR60 OCP Straight Axle Adapter
AX80072	 AR60 OCP 4-Link Mount
AX80073	 AR60 OCP Steering Link
AX80083	 Wraith Links Set
AXA0023	 M2.6x8mm Cap Head (Black) (10pcs)
AXA0109	 M3x10mm Oversized Flat Hex Socket (Black) (10pcs)
AXA0113	 M3x6mm Hex Socket Button Head (Black) (10pcs)
AXA0147	 M3x16mm Hex Socket Flat Head (Black) (10pcs)

AXA015	 M2x10mm Cap Head (Black) (10pcs)
AXA0187	 M3x20mm Set Screw (Black) (10pcs)
AXA0286	 Screw Shaft M4x2.5x12mm (6pcs)
AXA0413	 M2.6x8mm Hex Socket Tapping Flat Head (Black) (10pcs)
AXA0439	 M3x20mm Hex Socket Tapping Button Head (Black) (10pcs)
AXA087	 M3x16mm Cap Head (Black) (10pcs)
AXA091	 M3x30mm Cap Head - Black (10pcs)
AXA1041	 M2.5 Nylon Locking Hex Nut - Silver (10pcs)
AXA1045	 M4 Nylon Lock Nut (Black) (10pcs)
AXA1052	 M3 Thin Nylon Locking Hex Nut (Black)
AXA1053	 M3 Nylon Locking Hex Nut (Black) (10pcs)
AXA1059	 6mm Body clip (Black) (10pcs)
AXA1069	 Washer 2.7x6.7x0.5 (10pcs)
AXA1070	 Washer 3x6x0.5 (10pcs)
AXA1071	 Washer 4x8x0.5mm (10pcs)
AXA114	 M3x8mm Hex Socket Button Head (Black) (10pcs)
AXA115	 M3x10mm Hex Socket Button Head (Black) (10pcs)
AXA116	 M3x12mm Hex Socket Button Head - Black (10pcs)
AXA117	 M3x15mm Hex Socket Button Head (Black) (10pcs)
AXA118	 M3x18mm Hex Socket Button Head - Black (10pcs)
AXA1184	 O-Ring 7.5x1.5mm (S8) - (10pcs)
AXA119	 M3x20mm Hex Socket Button Head (Black) (10pcs)
AXA1202	 O-Ring 3.5x2mm (10pcs)
AXA121	 M3x30mm Hex Socket Button Head (Black) (10pcs)
AXA1221	 Bearing 5x11x4mm (2pcs)
AXA1230	 Bearing 10x15x4mm
AXA1391	 E4 e-clip (10pcs)
AXA1393	 E2.5 e-clip (10pcs)
AXA144	 M3x8mm Hex Socket Flat Head (Black) (10pcs)
AXA146	 M3x12mm Hex Socket Flat Head - Black (10pcs)
AXA148	 M3x18mm Hex Socket Flat Head (Black) (10pcs)
AXA150	 M3x25mm Hex Socket Flat Head (Black) (10pcs)
AXA180	 M3x3mm Set Screw (Black) (10pcs)
AXA186	 M3x16mm Set Screw (Black) (10pcs)
AXA291	 M4x4mm Set Screw (Black) (6pcs.)
AXA436	 M3x12mm Hex Socket Tapping Button Head (Black) (10pcs)
AXA441	 M3x30mm Hex Socket Tapping Button Head (Black) (10pcs)



22

AX08061	 2.2 VWS Beadlock Wheels (Black) (2pcs) (Fits XR10)
AX08069	 2.2 VWS Beadlock Rings (Black) (2pcs)
AX08132	 2.2 VWS Machined Beadlock Rings (Orange) (2pcs)
AX08133	 2.2 VWS Machined Beadlock Ring (Grey) (2pcs)
AX08135	 2.2 Raceline Renegade Wheels - 41mm Wide (Black) (2pcs)
AX08137	 2.2 Raceline Renegade Wheels - 41mm Wide (Chrome/Black) (2pcs)
AX08141	 2.2 Trail Ready HD Series Beadlock w/Slim Ring - IFD™ Wheels - Black(2pcs)
AX08142	 2.2 Trail Ready HD Series Beadlock w/Slim Ring - IFD™ Wheels - Chrome/Black(2pcs)
AX12015	 2.2 Ripsaw Tires - R35 Compound (2pcs)
AX12021	 2.2 BFGoodrich Krawler T/A - R35 Compound (2pcs)
AX12022	 2.2 Maxxis Trepador Tires - R35 Compound (2pcs)
AX24003	 20T Electric Motor
AX24004	 Axial 27T Electric Motor
AX24007	 Axial 55T Electric Motor
AX24010	 Brushless 2900KV Electric Motor
AX24251	 Axial NVS - Night Visions System
AX24252	 Axial Double LED Light String (White LED)
AX24253	 Axial Double LED Light String (Red LED)
AX24254	 Axial Double LED Light String (Orange LED)
AX24255	 Axial Single LED Light String (White LED)
AX24256	 Axial 5 LED Light String (White LED)
AX24257	 Simple LED Controller w/LED lights (4 white and 2 Red)
AX24258	 4 LED Light String (White LED)
AX24259	 Axial AE-2 Forward/Reverse ESC w/Drag Brake
AX24260	 AE-3 Vanguard ESC
AX30091	 67-90mm Shock Set - 10mm Piston (2pcs)
AX30092	 Axial 72-103mm Shock Set - 10mm Piston (2pcs)
AX30110	 Axial Aluminum 13mm Aluminum Preload Collar (2pcs)
AX30111	 Axial Aluminum Shock Cap (2pcs)
AX30120	 Axial Aluminum Shock Body 12x47.5mm (2pcs)
AX30155	 Shock Shaft 3x59.5 (2pcs)
AX30218	 Spring 14x70mm 2.07 lbs/in - Super Soft (Red) (2pcs)
AX30219	 Spring 14x70mm 2.47 lbs/in - Soft (White) (2pcs)
AX30220	 Spring 14x70mm 2.85 lbs/in - Medium (Green) (2pcs)
AX30221	 Spring 14x70mm 3.27 lbs/in - Firm (Yellow) (2pcs)
AX30222	 Spring 14x70mm 3.55 lbs/in- Super Firm (Blue) (2pcs)
AX30223	 Spring 14x70mm 1.04 lbs/in - Black (2pcs)
AX30224	 Spring 14x70mm 1.43 lbs/in - Purple (2pcs)
AX30225	 Spring 14x70mm 1.75 lbs/in - Orange (2pcs)
AX30395	 Heavy Duty Bevel Gear Set - 38T/13T
AX30401	 Heavy Duty Bevel Gear Set - 36T/14T
AX30402	 Heavy Duty Bevel Gear Set - 43T/13T
AX30465	 Machined hi-clearance Links - Green (2pcs)
AX30468	 Machined hi-clearance Links - Orange (2pcs)
AX30469	 Machined Hi-Clearance Links - Grey (2pcs)
AX30545	 2.2 Internal Wheel Weight Ring 57g/2oz (2pcs)
AX30546	 2.2 Internal Wheel Weight Insert 21g/0.75oz (4pcs) (for use with AX30545)
AX30722	 Pinion Gear 32P 11T (3mm shaft)
AX30723	 Pinion Gear 32P 12T (3mm shaft)
AX30724	 Pinion Gear 32P 13T (3mm shaft)
AX30725	 Pinion Gear 32P 14T (3mm shaft)
AX30726	 Pinion Gear 32P 15T (3mm shaft)
AX30727	 Pinion Gear 32P 16T (3mm shaft)
AX30728	 Pinion Gear 32P 17T (3mm shaft)
AX30741	 Spur Gear 32P 48T
AX30742	 Spur Gear 32P 50T
AX30743	 Spur Gear 32P 52T
AX30744	 Spur Gear 32P 54T
AX30762	 XR10 Aluminum C-Hub Carrier (Black) (2pcs)
AX30789	 AR60 OCP Aluminum Straight Axle Hub Carrier (2pcs)
AX30790	 Machined Heavy Duty Aluminum Straight Link 101mm - Grey (2pcs)
AX30791	 Hi-Clearance Threaded Aluminum Link 7x85mm - Grey (2pcs)
AX30829	 AR60 OCP Machined Low-Profile Differential Cover
AX30830	 Axial AR60 OCP Machined Link Mounts
AX30831	 AR60 OCP™ Front Axle Set (Complete)
AX30834	 Aluminum Servo Horn 23T
AX30835	 Aluminum Servo Horn 24T
AX30836	 Aluminum Servo Horn 25T
AX30851	 Steel Spur Gear 32P 48T
AX30852	 Steel Spur Gear 32P 50T
AX30853	 Steel Spur Gear 32P 52T

AX30854	 Steel Spur Gear 32P 54T
AX31009	 2-Speed Hi/Lo Servo Saver Set
AX31047	 Brushless 3150KV Electric Motor
AX31069	 Metal Spur Gear 32P 68T
AX31077	 2.2 Falken Wildpeak M/T - R35 Compound (2pcs)
AX31097	 3 Port High Output LED Controller
AX31098	 8 LED Light String (White LED)
AX31118	 2.2 Walker Evans Wheels - IFD™ Wheels - Black(2pcs)
AX31136	 Icon 87-125mm Aluminum Shock Set - 10mm Piston (2pcs)
AX31144	 AE-5 Waterproof Forward/Reverse ESC w/Drag Brake
AX31152	 Universal Rigid Light Bar Set
AX31156	 Machined Adjustable Motor Mount (Hard Anodized)
AX31160	 Steel Spur Gear 32P 68T
AX31161	 Steel Spur Gear 32P 64T
AX31162	 Steel Spur Gear 32P 60T
AX31163	 Steel Spur Gear 32P 56T
AX31164	 Machined Slipper Plate (Hard Anodized) (2pcs)
AX31171	 Icon 72-103mm Aluminum Shock Set - 10mm Piston (2pcs)
AX31172	 Icon 67-90mm Aluminum Shock Set - 10mm Piston (2pcs)
AX31173	 Icon 93-137mm Aluminum Shock Damper Set - 10mm Piston (2pcs)
AX31178	 2.2 Method Beadlock Wheels - IFD™ Wheels - Black(2pcs)
AX31181	 Yeti Transmission 2-Speed Hi/Lo Components
AX31184	 Hi/Lo Transmission Gear Set
AX31188	 Icon Aluminum Shock Body 12x47.5mm (2pcs)
AX31191	 Icon Shock Cap (12mm) (2pcs)
AX31244	 Upper Link Plate Set (Aluminum) (4pcs)
AX31245	 Lower Link Plate Set (Aluminum) (4pcs)
AX31250	 M4 Serrated Nylon Lock Nut (Black) (10pcs)
AX31329	 35T Trail Breaker Electric Motor (Rebuildable)
AX31330	 55T Trail Breaker Electric Motor (Rebuildable)
AX31331	 RR10 Rear Sway Bar Set (Soft)
AX80045	 Axial Light Bucket Set (Black)
AX80047	 Interior Details Parts Tree - Chrome
AX80049	 Axial LED Lens Set - Yellow/Clear (4pcs)
AX80085	 Universal Mount 5 Bucket Light Bar (Black)
AX80086	 Light Bar Lenses (Clear) (5pcs)
AX80131	 Helmet Set
AX8091	 Axial 2.2 Rockster Beadlocks (Black)
AX8092	 Axial 2.2 Rockster Beadlocks (Chrome)
AX8095	 Axial 2.2 Rockster Beadlocks (Black Chrome)
AX8097	 2.2 8 Hole Beadlocks (Black)
AX8112	 2.2 Beadlock Ring - Grey (2pcs)
AX8117	 2.2 Rock Beadlock Ring - Grey (2pcs)
AXA1076	 Cap Head Washer M3x10mm (4pcs)
AXA1101	 Cone Washer 3x6.9x2mm (6pcs)
AXA1104	 Cone Washer 3x6.9x2mm - Orange (6pcs)
AXA1105	 Cone Washer 3x6.9x2mm - Grey (6pcs)
AXA1331	 Flanged Ball 3x5.8x7mm (6pcs)
AXA1412	 0.5x6mm Spacer - Grey (6pcs)
AXA1413	 1x6mm Spacer - Grey (6pcs)
AXA1414	 2x6mm Spacer - Grey (6pcs)
AXA1415	 3x6mm Spacer - Grey (6pcs)
AXA1416	 4x6mm Spacer - Grey (6pcs)
AXA1417	 5x6mm Spacer - Grey (6pcs)
AXA1418	 6x6mm Spacer - Grey (6pcs)
AXA1419	 7x10mm Post - Grey (2pcs)
AXA1420	 7x15mm Post - Grey (2pcs)
AXA1421	 7x20mm Post - Grey (2pcs)
AXA1422	 7x25mm Post - Grey (2pcs)
AXA1423	 7x30mm Post - Grey (2pcs)
AXA1424	 7x35mm Post - Grey (2pcs)
AXA1425	 7x40mm Post - Grey (2pcs)
AXA1426	 7x45mm Post - Grey (2pcs)
AXA1427	 7x50mm Post - Grey (2pcs)
AXA1428	 7x55mm Post - Grey (2pcs)
AXA1429	 7x60mm Post - Grey (2pcs)
AXA1430	 7x65mm Post - Grey (2pcs)
AXA1431	 7x70mm Post - Grey (2pcs)
	

Option Parts


